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Question Number : 1 Question Id : 3922669001 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct answer

1. PM - WANI Scheme a. Awareness on misuse of telecom
resources for cybercrime, financial

fraud

ii. Sanchar Saathi Portal Db. Deliver major government services
trough mobile

1i1. e-Sampark c. Proliferation of broadband across

the country

iv. UMANG d. Send mails., messages to public
representatives and government
employees

BB DIrerSo K900k,

i. PM-WANI)0 a. pod FsKoe, &0y Irdred HBOKO DI
&Qj@ﬁrﬁo@ I SOR0GE0

ii. Soad 3d FYS b. 300BS oo oS (Babe

5en wodouEo

iii. e<00%8), c. ero&eros e Ea"%‘fmggom
D3BoDBADLEO
iv. &3ooR d. H20&; &S ben, (HEBSAOWH
Dood), Iv)Een HoBEO
1 1-a, 1-c. 1-d. 1v-b
. i-d, ii-a, iii-b, iv-c
3. i-c, ii-b, iii-a, iv-d
4. i-c, ii-a, iii-d, iv-b
Options :
1. %1

2. %2



3.%3
4.9 4

Question Number : 2 Question Id : 3922669002 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The Vice President of America. JD Vance belongs to this party

1. Labour party

b2

Liberal party

3. Democratic party

4, Republican party

ST EFIPPE B.b. TR B2 7H3 TodT 53

j & S5 ij"g
2. &8s Fh
3. GawoEes>d
4, 8udES 8
o (%]
Options :
1. %1
2. % )
3.% 3
4.¥ 4

Question Number : 3 Question Id : 3922669003 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the chronological order of Vice Presidents
of India was

a. Dr. Sarvepalli Radhakrishnan

b. Zakir Hussain

e V. V. Gini

d. Krishna Kanth

PPEBTEY EICPHEHe SHDIESTR) /3008,
a. @ s%ng RS

b. 23155?.’51:'5@“)5

43 o 5. B8
d. 50)?’3%5*05
1. i.hed
7.4 a c.b.d
3. a.dcb
4, biad c

Options :

1.¢ 1

2. %2

3. %3

4. % 4

Question Number : 4 Question Id : 3922669004 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



National Voter’s day 1s observed on
L. January 5

2. January 15

3. January 25

4. January 14
Al Clove L&Y% OSSR B3 TS BPE

L 25200 5
2 Box0 15
3. 200 25
4 200 14

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 5 Question Id : 3922669005 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Vinesh Phogat related to this sport

1. Weight lifting

2. Shooting

fad

Boxing
4. Wrestling
IR P B ($5H $022080D5TE

1. SaweS Opok
Beedoh
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Options :



1. ¥ 1
2. %2
3.%3
4.9 4

Question Number : 6 Question Id : 3922669006 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Women’s Reservation Bill 2023 is also known as
1. Mahila Kalyan Abhiyan

2. Nari Shakti Vandan Abhiyan

Stri Shakti Yojana

(a2

4. Nari Uttam Sreni Bandan
e dETERS Ve 202350 U KG WOLrD.

1. 52 5‘@55 AoV out)

2. &b ¥ 50858 ey

—

3. @g ¥3 Sorad
4. 8 &8> F3 2050

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 7 Question Id : 3922669007 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The mismatched pair related to colour revolution in India

1. Silver revolution - Egg
2 Gold revolution - Honey
3 Saffron revolution — Solar Energy

4. Golden Fibre revolution - Silk
PSS HHOS SE JHTI2 ¥020H0D HOS B
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Options :
1. %1
2. % )
3. %3
4.9 4

Question Number : 8 Question Id : 3922669008 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct answer

i, Lala Lajapati Roy a. Lokamanya
1. Khan Abdul Gafar Khan b. Indian Bismark
1.  Bala Gangadhar Tilak : Panjab Kesari
1v. Vallabhai Patel d. Frontiear Gandhi
WD Darerse HHiowlod.
i SrereEHAT oD a. éiﬁmsosﬁg
il TR @%5 KarE i b. qo&d&:g ﬁ)é‘égb_
iii. zre XonrsE fef C. HowPD Bd
iv.  Sguron DES d. (Fro83656 ol
1. i-c, ii-d, ii-a, iv-b
3 ic. iika mib wd
3 i-b, ii-a, iii-c, iv-d
4, 1-b. 1ii-d. 1ii-a. iv-c

Options :

1.¢ 1

2. % )

3. %3

4. % 4

Question Number : 9 Question Id : 3922669009 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



These countries share Teesta River water

1. India - Pakistan

Z India — Bangladesh
3. Pakistan - Bangladesh
4. Pakistan - Afganistan

S 38 mere Hohed B: Do &g 2thieEod
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Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 10 Question Id : 3922669010 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the correct answer

1. April 23 a. National Sports Day
il July 26 b. Kargil Vijay Divas
. August 29 C. Hindi Day

1v.  September 14 d. International Book.

Copyright Day
VB DATEES0 Kook,

i DS 23 a. =dsHide B30

i =3 26 b. =06 dmcH 858

.  esn§ 29 c. o8 &30

iv. Jowb 14 d (5803 Y, THpS 850
. i-d, ii-a. iii-c, iv-d

. 1-b. 11-a, 1i1-d. 1v-c

1-d. 11-D. i1i-a. 1v-C

)

4. 1-b, 11-c, 111-d. 1v-a
Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 11 Question Id : 3922669011 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Benaras Hindu University is founded by
L, Pandit Madan Mohan Malavya

2. Pandit Jawaharlal Nehru

S

Dr. Sarvepalli Radha Krishnan
4, Swamy Ramanandathirtha
BT ros DHRTFOE0 T

Is 90885 oSS IS ST

2. 50848 asrsers ITo
3. = *E?,S‘"ﬁ?: Gﬁgﬂﬁﬁg
4. g2 ot TeTnt 2 e
43 ]
Options :
1.¥1
2. % 2
3.% 3
4. % 4

Question Number : 12 Question Id : 3922669012 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The recipient of Bharat Ratna award from the following

L. Jagadish Chandra Bose
2. P.C. Ray
3, Sathish Dhawan

4, C.V. Raman

300 08" WrESTE) PEFE (Hores
1. =AOR SoES°S

2. &Y

3. »&sS
4. DlhoHe

Options :



1. ¥ 1
2. %2
3.%3
4.9 4

Question Number : 13 Question Id : 3922669013 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify wrong matched pair regarding rivers and state share

a. Ganga - Uttarakhand. Uttar Pradesh. Bihar,
Guyarat
b. Yamuna - Uttarakhand. Uttar Pradesh.

Haryana, Delhi

i Godavari - Maharashtra. Andhra Pradesh.
Madhya Pradesh. Karnataka
d. Krishna - Maharashtra. Karnataka.

Andhra Pradesh. Telengana
S0 Ho8din TELe TETK H02000D HOSTY) @

Hoouosk.
a. Kom - &S0, &EY|BE, D5,
ozoeS
b. dhdwe - &S0 ok, EBY(RTE, Tr8SsTe,
e}
c. Aoesd - DR SOFRBE, DEYHTE,
Eords
2
d & - TR, ST0E, eol@Ras,
SO0
1. a. c
2. b, c.d
3. ®d
4. a. b
Options :
1.¥1

2. %2



3.%3
4. % 4

Question Number : 14 Question Id : 3922669014 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The crowned World Chess Champion by defeating Ding Liren
of China 1s

i Dommaraju Gukesh
2. Arjun Erigaisi
P. Ramesh Babu

)

4. P. Hari Krishna
BT ToOS EGORK OB .00 (PH0S SSEOK T0DS

Eé@&b FOODS T

1 5"553&:5“:23* KOs
2. oS 00
3. 2. SoRerren
4. ok ?.’3'05531‘?”%
Options :
1.v 1
2. %2
3.%8 3
4. % 4

Question Number : 15 Question Id : 3922669015 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct answer
a. Junk e-mail 1s called spam

b. Speed of communication over a data channel 1s
measured in ‘Band’

E. Half a byte is known as “Nibble’
VO Do Hfouod.

1 =05 q-ﬁ;mgﬂ)&’n ‘%‘353 OLTED

2. @ 35S ENargIEAS ImY) wE'eS” Feodnth.
3. BES drrd) Wend’ woerd.
1 aC
2 a.b.c
3 a b
4. b.c

Options :

1. % ]

2.¥2

3. % 3

4. % 4

Question Number : 16 Question Id : 3922669016 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The National Highway 16 (NH-16) connects these cities
L. New Delhi and Chandigarh

2. Lucknow and Gandhinagar

3. Chennai and Bangalore

4. Chennai and Kolkata

2HEH ST 16 B3 SKOOD Kenyehod

L &rged $o08cin SodKE

2. of) $0ci» modsKE

3. Y 8851 BOKEED

4. IPH Wackn FS¥e

Options :
1. %1

2. %2
3. %3
4.4 4

Question Number : 17 Question Id : 3922669017 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
Acharya Charaka is known as
1. Father of Indian Mathematics
5.4 Father of Indian Architecture
Father of Indian Medicine
4. Father of Indian Arts
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Options :



1. ¥ 1
2. %2
3.¥3
4, % 4

Question Number : 18 Question Id : 3922669018 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Regarding Speakers of Lok Sabha and their tenure. find the
correct matched pair

1. GMC Balayogi - 1996 - 1998
2. Sumitra Mahajan - 2014 - 2019
3 Shivraj Patil - 1989 - 1991
4. PA Sangma - 1980 - 1985

&°5525 D)8 SPoBOWAB VO BEHBIT T KHJOBOE.

1. 2.J0.0 erodeA - 1996 - 1998
2. W@ DTS - 2014 - 2019
3. 350°8 >S5 - 1989 - 1991
4. Do) ‘éon'ﬂé - 1980 - 1985

Options :

1. %1

2.¥2

3.% 3

4. % 4

Question Number : 19 Question Id : 3922669019 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the correctly matched pair

i Kanha National Park - Jarkhand

2 Pench National Park - Madhya Pradesh
Pakhal Wild Life Sanctuary - Kerala

L+l

-

Vedanthangal Bird Sanctuary - Karnataka
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Options :
1. % 1
2.¥2
3. %3
4. % 4

Question Number : 20 Question Id : 3922669020 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Among all the Indian States and Union territories. rank of
Andhra Pradesh in literacy rate as per censes 2011 is
2011 s BE© (5780, erESTE0S” o) oolFen HBdw
S0l O |Focre eXTHE Tend” eo|@pnE LFo

(=1 2 o]

1. 5
z 14
3. 32
4, 30

Options :

1. %1

2. %2

3.¥3



4. % 4

Section 2
Section Id : 392266285
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10
Section Marks : 5
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266290
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3922669021 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Article of RTE — 2009 Act that specifies the percentage of
seats to be allocated for the children of poor and deprived
classes in private educational mstitutions is

3)@5:3'0?-:1:& 380 - 2009 (PSSO (Paéw 3)@5?60}6@:: g
a 23 [ g
538650 9ramdsS SCre 3}%@5‘5‘&30 EEPO00USONS ?oél_.%

T30 BESHEGD ©OESH0

1. 10
2. 9
3 32
4, 23

Options :

1. % 1

2. %2

3.3

4. % 4

Question Number : 22 Question Id : 3922669022 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Under the RTT Act — 2005. this organization is exempted from
providing information

RTI $0-2005 (95750, 83 $0g HIrado 3:(E0s”
a3 0000w) Sed.

1. NCTE
2. NCERT
3. SBI
4. CBI
Options :
1. %1
2. %2
3.%3
4. ¥ 4

Question Number : 23 Question Id : 3922669023 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In the School Education pattern 5 + 3 + 3 +4 of NEP-2020.
‘5" denotes

1. Preparatory stage
2. Middle stage

Foundational stage

LS )

4. Secondary stage
NEP-2020 S0t JFr¥ee 23&55 S5 5+3+3+48
5’ B HD2000.

1. a8 oF

.2 ;50555 Int-]

3. DO &Y

4. o¥oxbd &%
Options :
1. %1

2. %2



3.¢3
4. % 4

Question Number : 24 Question Id : 3922669024 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This is an educational institute dairy
1. Log book

2. Pay bill register

3 Cash book

4. Stock Register

38 25 Aoy 0o b

G

1. erf 20g
3 A 5&"'3{&5
3. SHEH W%

4, TS 82356

(=]
Options :
1. ¥ 1
2. %2
3.%3
4, % 4

Question Number : 25 Question Id : 3922669025 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct matched pair

L. Iswar Bhai Patel Committee - 1966

2. Malcolm Adiseshiah Committee - 1978
3. Kothari Commission - 1968

4. Hunter Commission — 1854

DOT BHDVAD BB YOW0G.

1, BaKBaron BES ¥Wed - 1966

2 ;Sm@bo &3&?&&05&5 083 - 1978
3. o8 ¥0HuS - 1968
4. wroerd ¥0nS - 1854

Options :

1. ¥ 1

2.9 2

3. %3

4. % 4

Question Number : 26 Question Id : 3922669026 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The main objective of KGBV schools is

B To provide education to all children of disadvantaged
groups.
7.l To provide access to education to girls of disadvantaged

groups of 10 - 15 years.

d

To provide quality education to girls of disadvantaged
groups.

4. To provide access and quality education to girls of
disadvantaged groups of 10-18 years.

KGBV dorjodire 533&:5&@%‘50

1. SE0ES ST aage_:odaé DGO ©0BOHE
2 Sen¥erdsS .z,ic::e: 10-15 ;60;39‘_%‘30'“&) ad¥er X ﬁdﬂsa’u

@082 e Sy,
3. Seo¥als QB'D;@ e ¥ h:m@&ﬁ 3}6555:; 08008,

4. S ¥ealess ;3’::;‘&: 10-18 s’:o;ﬁﬁ“jo*@ X
E‘bﬁ“o‘ééﬁ 2}::55&5.3 080w,

Options :
1. %1
2. %2
3.%3
4. ¥ 4

Question Number : 27 Question Id : 3922669027 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The Chairman of NCF — 2005 is
1. Dr. D. S. Kothari

2. Dr. L. Mudaliar

Prof. Yashpal

4. N. Janardhan Reddy
A2 - 2005 eggen

fad

1. & & . Eod

2. & 8. 3osdasrs
3. (& >SS

4 D5 amgS El=

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 28 Question Id : 3922669028 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



“British government should take responsibility for the spread
of education m India.” 1s proposed by

L. Elphinstone Report

2. Lord Macaulay’s Minutes

3. Hunter Commission

4, Wood’s Dispatch

“LEEH IS Saﬂgaﬂﬁ% EALSEY (B2DEGO 2Eges Sae0T8),”
o (RATB0IIR.

L )00 I8

2. or§ 5B PAFESIen
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3. wroed ¥R
4. eé:?g D
Options :
1. % 1
2. % )
3.% 3
4. 4

Question Number : 29 Question Id : 3922669029 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



In Muslim Education System. “Mukthab” is

1. High school

2. Middle school
3 Primary school
4. College

5030 ITRETOS” WHES e
| = En‘a@ T

2 TGRS FETO

3. (PERY FsTe

4, Eorgre

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 30 Question Id : 3922669030 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The highest body that makes policy decisions related to
Teacher Education in our country.

505 BY¥ost %@‘E"gcﬁo S5 5020800 IS AYcsiren

ol

TSSO B DO
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1. NCTE
2. NCERT
¥. CIET
4. CORT
Options :
1.v1
2. %2
3.%3

4. % 4



Section 3

Section Id : 392266286
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10

Section Marks : 5
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266291
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 3922669031 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following 1s NOT a subtest of the Differential Aptitude
Test (DAT)

1. Verbal Reasoning

2, Numerical Ability

3. Mechanical Reasoning

4, Divergent thinking

308 US” EFBYSHS esptarsE BY Bwy), &BD8Y S0
i eDE ISBI0

2. moaﬁse:é&s‘ @*;ﬁagso
3 aSomo| % DSBS
4. D) e85

Options :

1. %

2.% 2

3.%3
4.4 4

Question Number : 32 Question Id : 3922669032 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The following 1s NOT a limuitation of using rating sales to
assess personality

1. Type I error

2. Generosity error
4. Hallo effect
4, Error due to central tendency

300 FBS" ITBes FrHAY EDEPAON H0eDeK0 SOBI
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1. 15 850 %0
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Options :

1.¥1

2. %2

3.% 3

4. % 4

Question Number : 33 Question Id : 3922669033 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The following 1s the classification done by Kreshmer
1. Introverts, Extroverts

2. Pyknic. Athletic. Leptosomatic

LTS

Sanguine, choleric, Malancholic, Phlegmatic
4. Endomorphic, Mesomorphic. Ectomorphic
2008° (F9)8 B1 5§
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Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 34 Question Id : 3922669034 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



A person received two wedding invitations. Both are on the
same day and at the same time. Both are important for him and
he is unable to decide which marriage he had to attend. The
conflict in him 1s

1. Approach-Approach
2. Approach-Avoidance

Avoidance-Avoidance

(S ]

4, Double approach-Avoidance

2% 35533 o DPvePen FIT)ow. ToEr e 2.80% 2.8
20A00S" HORD. BBV TOLT H0PFRTS. BB 50 Y2
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1. G a0-Ga el
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Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 35 Question Id : 3922669035 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



A boy can memorise by reading any aspect without
understanding its meaning. His memory 1s

1. Abnormal memory

2. Rote memory

(4

LD]]g Term memory

4, Logical memory
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Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 36 Question Id : 3922669036 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



A woman fell down from a scooter while her husband was
taking her to a market. From then on, she developed a fear of
travelling on a scooter with her husband. But she 1s not scared
of travelling on a scooter with others. This is

0. Stimulus generalization
2. Stimulus discrimination
3. High order conditioning
4. Spontaneous recovery

2 Y &5 &Y Ko ebp [0 S5 Sldwon
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Options :
1. % 1
2.¢2
3. %3
4, % 4

Question Number : 37 Question Id : 3922669037 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the wrongly matched pair:

1. Two factor theory -

2 Group factor theory
3. Model of mtellect

4. Multiple intelligence
SHPIT BSEDSTESO o0&,

1. &[53‘55 DCPOES0 -
{7
2. P E50TeE SREY R:Jf:goéo =
v , 9, &
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4, 2IaTOY [:.i::za -
=
Options :
1. % 1
2.¥2
3. %3
4. % 4

Question Number : 38 Question Id : 3922669038 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
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Guilford
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Identify correct answer

1. Theory of Identical Elements a. Thorndike
ii. Theory of Generalization b. Charles Judd
iii.  Transposition Theory C. Gestaltists
iv.  Theory of Ideals d. Bagley
VBN VIrEEN0 KJouod.
i. BEETD Soroste DO a. &gt
=] [l
ii. @";&:1235&553 RJEEO?'_%O b. a‘gﬁ =&
i, HSTEYB deroso . RS e
o] (2] 5]
V. eS0T dFoEo d 3
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i i-a, 1i-b. 1ii-d. iv-c
2. 1-a. 11-c, 11-d. 1v-b
3. 1-b. 11-d. 111-a. 1v-c
4. i-a, 1i-b. 1ii-c, iv-d
Options :
1% |
2. %2
3.%3
4.9 4

Question Number : 39 Question Id : 3922669039 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the INCORRECT one with respect to the
Army Alpha Test

1 Group Test

Z Non Verbal Test

Paper Pencil Test

4, Speed Test
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Options :
1. ¥ 1
2.9 )
3.% 3
4. % 4

Question Number : 40 Question Id : 3922669040 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following 1s known as the “Master gland’

1. Pitutary gland
2. Thyroid gland
3 Pancreas

4, Adrenal gland
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Options :



1.1

2. % 2

3.% 3

4. % 4

Section 4

Section Id : 392266287
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 80
Number of Questions to be attempted : 80
Section Marks : 40
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266292
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3922669041 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“The rains have heralded the arrival of some seasonal visitors
— a leopard. and several thousand leeches™

Choose the synonym of the word ‘heralded’.

1. 1gnored

1o

announced

concealed

ad

4, silenced

Options :
1. % 1
2.9 2
3.%3
4, % 4

Question Number : 42 Question Id : 3922669042 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Although tin roofs are given to springing unaccountable leaks.
there is feeling of being untouched by. and yet in touch with.
the rain.

Choose the synonym of the word ‘Feeling’.
i Sensation
2. Thought
3 Emotion
4. Concept
Options :
1.¥ 1
2. %2

3. %3
4. % 4

Question Number : 43 Question Id : 3922669043 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

He worked as a teaching assistant. gave private lessons and
finally secured a job in 1902 as a technical expert in the patent
office in Bern.

Choose the antonym of the word ‘Secured’.
1 Surrendered
Z. Acquired
B Obtained
4. Lost
Options :
1. %1
2. %2

3.%3
4.9 4

Question Number : 44 Question Id : 3922669044 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The previous year, Albert’s parents had moved to Milan, and
left their son with relatives.

Choose the antonym of the word ‘previous’.
1 Trendy
2. Old
3. Subsequent
4. Antecedent
Options :
1. %1
2. %2
3.¢3
4.% 4

Question Number : 45 Question Id : 3922669045 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
An ivory like substance that 1s the major part of teeth.

Choose the one word substitute for the expression above.

1. Cavity
2, Tartar
3. Dentin
4, Plaque

Options :

1. %1

2.%2

3.¥3

4. % 4

Question Number : 46 Question Id : 3922669046 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



A person who remains uneffected by the ups and downs of

life.
Choose the one word substitute for the expression above.
. Sadist
2, Stoic
3 Disinterested
4. Saint

Options :

1% |

2.92

3.%3

4.% 4

Question Number : 47 Question Id : 3922669047 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Carl livesin  one-bedroom apartment.
Choose the article to complete the sentence above
i a
2. an
3. the
4. No article 1s needed

Options :

1.¥1

2. %2

3. %3
4. % 4

Question Number : 48 Question Id : 3922669048 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



ESLP Stands for
1. English as a Second Language Programme
2. English as a Speakers Language Progranime
3 English as a Standard Language Purpose
4, English as a second Language Purpose
Options :
1.¥ 1
2. %2

3. %3
4. % 4

Question Number : 49 Question Id : 3922669049 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Choose the Latin Phrase that means “To infinity: endlessly™
1. Ad nauseam
2. Eft cetera (etc)
3. Caveat emptor

4, Defacto

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 50 Question Id : 3922669050 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Choose the correct meaning for the Latin phrase “Ad hoc’
1. From what comes before: Deduced from causes

2 For this specific purpose

L]

Infact: in reality
4. By itself: inherently

Options :
1. %1

2.¥2



3.%3
4. % 4

Question Number : 51 Question Id : 3922669051 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct meaning of ‘by means of .
1. Regarding

2. Interms of

3. Through the use of

4. Instead of

Options :
1. %1

2. %)
3.¢3
4. % 4

Question Number : 52 Question Id : 3922669052 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Recent research and therapeutic techniques are shedding
light  the dark world  sleep disorders.

Choose the set of prepositions that set the respective blanks.
L on / of
2, off / to

before / out

LS

4, with / for
Options :
1.% 1
2. %2
3.% 3
4. % 4

Question Number : 53 Question Id : 3922669053 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the phonetic symbol which represents the ‘ch’ sound
in church.

1. /K
3. A

Options :

1. %1

2. %2

3.3

4, % 4

Question Number : 54 Question Id : 3922669054 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the following word that has a long vowel sound.

1 Bed
2. Bit
2 0 Beat
4. But
Options :
1. %]
2. % D
3.3
4. % 4

Question Number : 55 Question Id : 3922669055 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the proverb that emphasizes the value of saving money
and being financially prudent.

1. Every cloud has a silver living.

2. Birds of a feather flock together,

fad

A penny saved 1s a penny earned.

4. Better late than never.



Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 56 Question Id : 3922669056 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the proverb that cautions against investing all
resources or efforts into a single endeavor.

1. The early bird catches the worm.

2 All’s fair in love and war.

)

Don’t put all your eggs in one basket.

4, Don’t judge a book by its cover.

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 57 Question Id : 3922669057 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

They could not admire his bright performance because of they
dislike him.

Choose the option that can improve the underlined part in the
sentence above.

1. Because of their disliking of
2! Because of their dislike
3 Because they dislike

4, As they have disliked

Options :
1. %1
2. %2
3.3
4. % 4



Question Number : 58 Question Id : 3922669058 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify one of the types of dictionaries focused on specific
fields or subjects:

1. Monolingual dictionary
2. Bilingual
¥ Thesaurus
4. Specialized dictionary
Options :
1. %1
2. %2

3.% 3
4.9 4

Question Number : 59 Question Id : 3922669059 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose one of the key elements of an autobiography :
1. A detailed analysis of historical events

2. Reflections on personal growth and aspirations

3. A fictional storyline with imaginary characters

4, An exploration of scientific theories

Options :
1. %1
2.2
3.%3
4. % 4

Question Number : 60 Question Id : 3922669060 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The following should be avoided in a précis writing :
L. Crafting a thesis statement

2. Highlighting key points

3. Summarizing each paragraph

4. Abbreviations should be expanded

Options :
1. %1
2. %2
3.%3
4. ¥ 4

Question Number : 61 Question Id : 3922669061 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

We in Norway for nearly 25 vears until we moved to
Scotland two years ago.

Choose the part of the sentence that fits the blank.
L. has been living
2. would live
3 had been living
4. would have been lived
Options :
1. %1
2. %2
3.¢3
4.% 4

Question Number : 62 Question Id : 3922669062 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the sentence that describes an action that had already
happened before another past action :

1. He had already eaten lunch when she arrived.
2. By tomorrow afternoon. she will have finished her
presentation.
3, They have lived mn this house since last year.
4. She cooks dinner every evening.
Options :
1.¥1
2. %2
3.%3
4.% 4

Question Number : 63 Question Id : 3922669063 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the word formation process where two or more words
are joined to create a new word :
1. Conversion
2. Blending
3. Reduplication

4. Borrowing

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 64 Question Id : 3922669064 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



In the word “unhappy’ the prefix “un’ is an example of :
1. Cores pounding

2. Reduplication

Backformation

4. Affixation

fad

Options :
1. %1

2. %2
3.%3
4.4 4

Question Number : 65 Question Id : 3922669065 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the sentence with right word order :
L. Is how far your town from here?
Z; How far your town from here 1s ?
3 How far your town is from your town?
4. How far is your town from here?
Options :
1. %1
2. %2
3.%3
4.v 4

Question Number : 66 Question Id : 3922669066 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the wrong collocation from the following.

1. Malke business
2. Make a difference
3. Make a Promise

4. Make progress

Options :
1.¥1



2. %)
3. %3
4. % 4

Question Number : 67 Question Id : 3922669067 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Choose the correct question tag for the sentence.
Few people knew the way.
1, didn’t they?

2. do they?
R did they?
4. don’t they?

Options :

1% |

2. %2

3.¢3

4.% 4

Question Number : 68 Question Id : 3922669068 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the sentence with the correct question tag.
1. You can study well, can you?

2. Students like movies, do they?

We can’t live without air. can’t we?

4, He didn’t go. did he?

Options :
1. %1
2. %2
3.%3
4. ¥ 4

Tl

Question Number : 69 Question Id : 3922669069 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the situation in which ‘hold on to” be appropriate :
L. A team collaborates to achieve a goal

2. A person gives up on their dreams

3. A student procrastinates on assignments

4. A company replaces outdated technology

Options :
1.v1
2. %2
3.%3
4. % 4

Question Number : 70 Question Id : 3922669070 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the scenario in which someone use the phrasal verb
‘bring up’

When they complete a task efficiently

1
2 When they avoid discussing a sensitive topic

fed

When they overlook an important detail
4. When they raise a topic for discussion

Options :

1. ® 1

2. %2

3.%3

4.9 4

Question Number : 71 Question Id : 3922669071 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the sentence that can be used to make a request.
1. I could assist you with that task if needed.

2 Let’s schedule the meeting for tomorrow afternoon.

('S

She might appreciate some advice on her presentation.

4, Would you mind proofreading this document for me?

Options :



1. ¥ 1
2. %2
3.%3
4.9 4

Question Number : 72 Question Id : 3922669072 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct type of verb that requires a direct object to
complete its meaning:

| Intransitive verb
2 Latin verb

S

Transitive verb
4. Modal verb

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 73 Question Id : 3922669073 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Choose the grammatically correct sentence from the following.
1. How blue a sky looks.
2. In a park. I saw one eyed begger.
3. He is excellent painter.
4, He died of cancer.

Options :
1. %1
2. %2
3.%3
4. ¥ 4

Question Number : 74 Question Id : 3922669074 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the grammatically correct sentence from the following.
1. She cut the fruit by a knife
Eve ate the forbidden fruit. did she?

3 Raju likes coffee, doesn’t he?

1o

¥

4. One of my friend has come.

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 75 Question Id : 3922669075 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

[ead 1s the heaviest of all metals.

Choose the comparative degree of the sentence above.

I Lead 1s heavier than all other metals.
2. Lead is the heavier to all other metals.
3 Lead is as the heaviest of all other metals.
4, Lead 1s more heavy to all other metals.
Options :
1.¢ 1
2. %)
3. % 3
4, % 4

Question Number : 76 Question Id : 3922669076 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the correct sentence in positive degree from the
following.

All other planets are as bright as than venus.

=

No other planets are as brighter as venus

8

Some of the planet 1s the bright as venus

s

No other planet is so bright as venus.

Options :
1. %1
2. %2
3.%3
4. ¥ 4

Question Number : 77 Question Id : 3922669077 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the sentence structure for “She 1s my best friend”,
1. Subject + Verb

2 Subject + Verb + Object

Subject + Verb + Compliment

4, Subject + Verb + Adjunct

fad

Options :
1. % 1

2. %2
3.¢3
4. % 4

Question Number : 78 Question Id : 3922669078 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct simple sentence :
1. She sings beautifully, and she dances gracefully.

2 She sings beautifully because she practices every day.

LS

Singing beautifully, she captivated the audience.
4, Although she sings beautifully, she lacks confidence.

Options :



1. ¥ 1
2. %2
3.¥3
4, % 4

Question Number : 79 Question Id : 3922669079 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following is not a function of apostrophe:
I, Indicating possession

2. Forming contractions

A Marking the end of a sentence

4. Indicating omitted digits in numbers

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 80 Question Id : 3922669080 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the main clause in the following sentence:
When he arrives, we will start the meeting.

E When he arrives

2 We will start the meeting

3 the meeting

4. he arrives

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 81 Question Id : 3922669081 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the most appropriate meaning of the idiom :
“Vanishes in a swirl’

i They have a narrow escape from danger.

1o

They disappear in a twisting motion.

[ )

They remember something.

4, They are compelled to come to a halt.

Options :
1. % 1

2.¥2
3. %3
4. % 4

Question Number : 82 Question Id : 3922669082 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct statement.

1. Sidled back implies moving forward directly.

2. Sidled back means to move sideways or indirectly.
3. Sidled back suggests standing still.

4. Sidled back denotes rapid backward movement.

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 83 Question Id : 3922669083 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the incorrect statement about irregular plural nouns:

1. Irregular plural nouns do not follow the usual pattern
for forming plurals.

2. Irregular plural nouns have unique spellings for their
plural forms.

fad

Irregular plural nouns are formed by adding ‘s” or ‘es’
to the singular form.

4. Irregular plural nouns often involve changes in vowels
Or consonants.

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 84 Question Id : 3922669084 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the type of conjunction that connects a dependent
clause to an independent clause:
1. Coordinating conjunction

2. Correlative conjunction

)

Conjunctive conjunction

4, Subordinating conjunction

Options :
1. % 1
2. %2
3.%3
4. ¥ 4

Question Number : 85 Question Id : 3922669085 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the incorrect statement about indirect speech:

k. It mvolves reporting what someone has said without
using their exact words.

2. Pronouns and verb tenses change accordingly.

LN ]

Reporting verbs like ‘said’. ‘told” or “asked’ are used.

4. Quotation marks are used to enclose the reported
speech.

Options :
1. %1
2. %2
3.%3
4. ¥ 4

Question Number : 86 Question Id : 3922669086 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Select the incorrect step in changing a command from direct
speech to indirect speech:
1. Adjust the pronouns in the reported speech.
2 Use a reporting verb like ‘asked’
E 1 Maintain the original form of the imperative verb.
4. Convert the command form into a question.

Options :
1. % 1
2. %2
3.%3
4.9v 4

Question Number : 87 Question Id : 3922669087 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Take the ashes of the mull and sprinkle them on the withered
trees.

Choose the passive form of the sentence above:

1. Take the ashes of the mull and should be sprinkled by
them on the withered trees.

2 The ashes of the muill should be taken and should be
sprinkled by the withered tress.

Tad

Take the ashes of the mill to be sprinkled by them on
the withered trees.

4. The ashes of the mill should be taken and sprinkled on
the withered tress.
Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 88 Question Id : 3922669088 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

I had given those boots up when one evening they came.
Choose the passive form of the sentence above.

1. Those boots had been given up by me when one
evening they came.

Z. When one evening they had come. those boots were
given up.

(ad

Those boots were given up when they had come one

evening.
4. When one evening they came. those boots have been

given by me.

Options :

1.¥ 1

2. %2

3.%3

4.% 4

Question Number : 89 Question Id : 3922669089 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes



Correct Marks : 0.5 Wrong Marks : 0
Concrete poetry utilizes :
1. Fixed meter and thyme scheme

2. Natural speech rhythms

LS )

Visual arrangement of words
4, Traditional stage forms.

Options :
1. %1
2. %2
3.3
4, % 4

Question Number : 90 Question Id : 3922669090 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the term for literary analysis that focuses on the
historical and cultural context of a work.

1. Formalist criticism

2 Biographical criticism
3. Marxist criticism

4. New criticism

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 91 Question Id : 3922669091 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the figure of speech in the phrase “The wind
whispered secrets through the trees”.

1. Simile
2 Metaphor
3. Personification

4. Synecdoche

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 92 Question Id : 3922669092 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following 1s the significance of the poet addressing his
plea to his ‘Father’ in the final line of the poem. (Where the
Mind 1s without Fear)

L. It represents a religious invocation.
2. It symbolizes the poet’s personal relationship with his
father.
3 It signifies the poet’s appeal to a higher power of
authority.
4. It reflects the poet’s longing for parental guidance.
Options :
1. %1
2. %2
3.3
4.% 4

Question Number : 93 Question Id : 3922669093 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The following is the speaker’s attitude towards the subject
change throughout the poem “A Slumber did my Spirit Seal™:

1. From fear to acceptance
2 From admiration to resentment
3. From indifference to revenge
4, From confusion to understanding
Options :
1.¥ 1
2. %2
3.%3
4.% 4

Question Number : 94 Question Id : 3922669094 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

When the cloud dissolves hail i ram. 1t’s laughter signifies :

(The Cloud)
L. Joy at its own power
2. Sadness at causing destruction
3. Triumph over the natural elements
4. Frustration at its ability to control hail
Options :
1. %1
2. %2
3.¢3
4.% 4

Question Number : 95 Question Id : 3922669095 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Select the literary device employed in the line “Stand fast and
suffer long.” (The Nation’s Strength)

1 Alliteration
2. Simile
3. Hyperbole
4. Oxymoron
Options :
1.v1
2. % )
3.%3
4. % 4

Question Number : 96 Question Id : 3922669096 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The poem “Palanquin Bearers® celebrates the beauty and grace
of :
Palanquin bearers

1
2. The palanquin itself

fad

Indian transportation

4. A women in the palanquin

Options :
1. %1
2. %2
3.%3
4. ¥ 4

Question Number : 97 Question Id : 3922669097 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Select the theme that resonates with readers of different
generation and cultures. (The Road not Taken)

1. The beauty of nature
2. The significance of paths
3; The complexities of life

4, The universal relevence of the poem

Options :
1. % 1
2. %2
3.%3
4. v 4

Question Number : 98 Question Id : 3922669098 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Choose the correct statement about the narrator’s response to
the landlady’s questions. (Telephone Conversation)
1. The narrator answers truthfully and directly.
2. The narrator avoids the questions by changing the topic.
3. The narrator’s responses are sarcastic and ironic.
4. The narrator becomes angry and hangs up the phone.

Options :
1. %1
2. %2
3.43
4. % 4

Question Number : 99 Question Id : 3922669099 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Select the effect of using symbolism in the poem ‘Night of the

Scorpion’.
1. It provides literal explanation for the events described.
2. It adds layers of meaning and depth to the poem.
3. It restricts the reader’s interpretation of the scorpions
attack.
4. It creates a lighthearted tone in an otherwise somber
poem.
Options :
1. %1
2.92
3.%3
4.% 4

Question Number : 100 Question Id : 3922669100 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Number of lines a traditional haiku contains
1. 10
2. 14
£y 3

4. 7

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 101 Question Id : 3922669101 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Bacon describes his own style of writing as :
1. Ornate and flowery
2, Austere and brief
3. Rambling and verbose
4. Overly simplistic
Options :
1. %1
2.92

3.%3
4. % 4

Question Number : 102 Question Id : 3922669102 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Rajagopalachari asserts the following is the foundation of a
nation’s moral fabric.

1. Correction and deceit
2. Integrity. honesty, and compassion

Greed and selfishness

[

4. Discrimination and injustice

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 103 Question Id : 3922669103 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the incorrect statement regarding the behavior of
children and youth according to R.'W. Emerson.

1. Children and youth conform easily to the opinions and
customs or a dusts.

2 Infancy conforms to nobody : all conform to it. so that
one baby commonly makes four or five out of the adults
who prattle and play to it.

3 Children and youth lack the ability to form genuine
verdicts about people and events.
4. The behavior of children and youth 1s mostly similar to
that of adults, as they learn from their surrounding.
Options :
1% |
2. %2
3.¢3
4.% 4

Question Number : 104 Question Id : 3922669104 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct statement about handshaking and its
symbolic significance.

¥ Handshakes have the same meaning and interpretation
across cultures

2 Some people prefer handshakes to be unresponsive. like
a jellyfish.

T

Different handshakes can carry distinct connotations
and emotions.

4, Handshakes should always be firm and crushing.

Options :
1. %1
2. %2
3.3
4, % 4

Question Number : 105 Question Id : 3922669105 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Benjamin, the donkey. symbolizes the following in ‘Animal

Farm’.
i. Hope and optimism
2 Cynicism and skepticism

(8

Lovyalty and devotion
4, Ambition and leadership
Options :
1. %1
2.¥2

3.%3
4. % 4

Question Number : 106 Question Id : 3922669106 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Choose the narrative style of *Animal Farm’.
1. First-person
iz Second-person

Third—Person omniscient

(a2

4, Stream of consciousness
Options :
1. %1
2.% 2
3.¥3
4. % 4

Question Number : 107 Question Id : 3922669107 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the narrative point of view used in the novel. *Swami
and Friends’.

1. First - person
it Second - person

Third—Person limited

4

4, Third—person omniscient



Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 108 Question Id : 3922669108 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The significance of the novel’s setting in the fictional town of
Malgudi 1s : (Swami and Friends)

L. It represents a specific location in India known for its
historical significance.

2. Malgudi symbolizes a typical Indian town. reflecting
the complexities of Indian society.

ad

The town 1s based on a real place in India. making the
novel semi-autobiographical.

4. The setting is irrelevant to the overall themes and plot
of the novel.

Options :
1. %1
2.¥2
3.%3
4, % 4

Question Number : 109 Question Id : 3922669109 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the character that rescues Sabastian after he 1is
mistaken for Cesario. (Twelfth Night)

I Viola
2. Sir Toby Betch
3. Olivia
4. Antonio
Options :
1. %1
2.% 2

3.% 3



4.9 4

Question Number : 110 Question Id : 3922669110 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Sir Toby Belch 1s known for in the play. “Twelfth Night'.

1. His love for Olivia

1o

His singing ability

LS

His pranks and revelry
4. His wisdom

Options :

1% 1

2.%2

3.¥3

4.% 4

Question Number : 111 Question Id : 3922669111 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Oscar Wilde explores the theme of deception in the play. “The
Importance of Being Earnest’

4 Through the characters” use of disguises and false
1dentities
2, Through magical illusions

S

Through physical transformations

4. Through Telepathy

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 112 Question Id : 3922669112 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify what Cecily believes about the name “Earnest’. (The
Importance of Being Eamest)

1 She believes it is a symbol of wealth.

2. She believes it is a symbol of sincerity.

LS )

She believes it is a symbol of intelligence.
4. She believes it is a symbol of beauty:.

Options :

1. %1

2.92

3.%3

4.% 4

Question Number : 113 Question Id : 3922669113 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The prisoner renounces the following in his final letter. (The
Bet)

1. His freedom
2! His wealth

)

His knowledge

4. His Bride
Options :
1. %1
2.¥2
3.% 3
4. % 4

Question Number : 114 Question Id : 3922669114 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the way how the narrator attempts to resolve his
problem with the road engine initially. (Engine Trouble)

1. By selling it to a collector

2. By driving it himself

T4l

By donating it to a museum

4. By seeking assistance from authorities



Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 115 Question Id : 3922669115 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following is NOT a reason why Jimmy’s criminal
activities are surprising to Bob. (After Twenty Years)

1. Bob was unaware of Jimmy’s criminal inclinations.
2. Bob expected Jimmy to become a police officer.
3. Bob assumed Jimmy would lead an honest life.
4. Bob knew Jimmy as an upright citizen in the past.
Options :
1. %1
2.¥2
3.%3

4. % 4



Question Number : 116 Question Id : 3922669116 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct statement about O. Henry’s exploration of
human relationships.

1. O.Henry’s stories rarely focus on relationship between
characters.

1o

He avoids delving into the complexities of human
emotions.

fad

O.Henry often explores intricacies and emotions of
human relationship.

4. He only portrays superficial iteractions among
characters.
Options :
1. * 1
2. %2
3.¢¥3
4.% 4

Question Number : 117 Question Id : 3922669117 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the main theme of the story "The Bet".

I The conflict between material wealth and moral values
2. The pursuit of justice through punishment
3. The power of human relationships

4. The unpredictability of life

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 118 Question Id : 3922669118 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the initial argument that sparks the bet between the
banker and the lawyer. (The Bet)

1. The immorality of solitary confinement
2. The comparison between the death penalty and life
imprisonment
3. The value of money versus freedom
4. The relevance of philosophical studies
Options :
1% |
2.92
3.%3
4.% 4

Question Number : 119 Question Id : 3922669119 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Read the following passage

Philosophy of Education 1s a label applied to the study of the
purpose. process. nature and ideals of education. It can be
considered a branch of both philosophy and education.
Education can be defined as the teaching and learning of
specific skills. and the mmparting of knowledge. judgment and
wisdom. and is something broader than the societal institution
of education we often speak of.

Choose the most accurate description of Education according
to the passage :

i Education solely refers to the teaching and learning of
specific skills.
2. Education encompasses the imparting of knowledge,

judgment. and wisdom. along with teaching specific

skalls.
3 Education i1s limited to the societal institution on
education.
4. Education focuses only on the process of learning.
Options :
1. %1

2.¥2



3.%3
4. % 4

Question Number : 120 Question Id : 3922669120 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Read the following passage.

Philosophy of Education is a label applied to the study of the
purpose. process, nature and ideals of education. It can be
considered a branch of both philosophy and education.
Education can be defined as the teaching and learning of
specific skills. and the imparting of knowledge. judgment and
wisdom. and i1s something broader than the societal institution
of education we often speak of.

Choose the primary focus of philosophy of Education as
described in the passage :

1. Analyzing teaching methods in educational stitutions
2. Studying the societal impact of education.
3 Exploring the purpose process. nature, and ideals of
education.
4. Examining specific skills required for learning.
Options :
1. ® 1
2. %2
3.¢3
4.% 4
Section 5
Section Id : 392266288
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 20
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266293
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 3922669121 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes



Correct Marks : 0.5 Wrong Marks : 0
Identify the technique that would incompatible with the
principles of the Grammar — translation method
1. Translating paragraphs into the mother tongue
2, Memorising vocabulary lists
3. Practicing sentence structures through dialogue

4. Learning grammatical rules deductively

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 122 Question Id : 3922669122 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct statement about language education in the

classroom:
1. It should be an impediment to learning.
2. Ongoing assessment can be based on a portfolio mode.

3. It should be tied to specific syllabi.
4. Evaluation should be primarily focus on memorization.
Options :
1% 1
2.¢2
3.%3
4.% 4

Question Number : 123 Question Id : 3922669123 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the statement that best distinguishes between

persuasive and descriptive writing

1. Persuasive writing is more emotional; Descriptive
writing is more fact based and visual

2 Descriptive writing includes advertising: Persuasive
writing is limited to biographies

)

Descriptive writing uses commands: Persuasive writing
avoids opinions

4. Both are inter changeable for personal letters. We do
use those methods while writing essays.
Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 124 Question Id : 3922669124 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct statement about the three-language
formula :

1. It 1s adopted to India to India’s monolingual situation
for language education.

2. It encourages the exclusion of regional languages.

Ly ]

It aims to develop proficiency in only one language.

4. It is adopted to India’s multilingual context for
language education.
Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 125 Question Id : 3922669125 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The specific aim of teaching is also known as :
I Educational objectives
2. Behavioural objectives
3. Cognitive objectives
4. Affective objectives
Options :
1. %1
2.¥2
3.%3
4.% 4

Question Number : 126 Question Id : 3922669126 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The cognitive domain includes :
L. Emotional aspect
Z, Doing aspect
i Knowledge aspect
4, Signal aspect

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 127 Question Id : 3922669127 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The level of cognitive objectives that involves the analysis of
elements and relationship is :

1. Knowledge
2. Comprehension
3. Application
4. Analysis
Options :

1. %1



2. %)
3. %3
4.9 4

Question Number : 128 Question Id : 3922669128 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The level of psychomotor objectives of which the learner
becomes more efficient in accomplishing complex tasks is :

1. Perception
2 Set
3. Mechanism
4. Complex overt response
Options :
1%
2. %2
3.%3
4.9 4

Question Number : 129 Question Id : 3922669129 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Select the incorrect statement about using materials for
teaching speaking.

k: Authentic clippings can be used for speaking
development.
2. Lesson plans are not relevant for teaching speaking.
3 Listening to speaking models enhances pronunciation.
4. News and weather forecasts aid listening skills.
Options :
1. %1
2.¥2
3.%3
4.% 4

Question Number : 130 Question Id : 3922669130 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the technique that encourages students to engage in
conversations as different individuals :

1. Dialogues
2 Interactive technique
3 Role-Play
4. Warmers
Options :
1. %1
2. %2
3.¢3
4.% 4

Question Number : 131 Question Id : 3922669131 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Select the sub-skill that involves using appropriate words to
connect and link sentences smoothly.

1. Expression
2. Vocabulary

Cohesive devices

LS

4. Grammar

Options :
1. % 1
2. %2
3.¥3
4. % 4

Question Number : 132 Question Id : 3922669132 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the technique that involves summarizing the main
points of a text in a concise manner.

I, Skimming

2. Transformation of sentences
3. Paraphrasing

4. Scanning

Options :
1.v1
2. %2
3.%3
4, % 4

Question Number : 133 Question Id : 3922669133 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the method that emphasizes a direct connection
between experience and eXpression :

I Inductive method
5.3 Translation method
Deductive method

4, Natural Method

Options :
1.v 1
2. %2
3.%3
4. % 4

LS ]

Question Number : 134 Question Id : 3922669134 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the key principle of the direct method that focuses on
teaching language in a natural order.

1. Restrain the mother tongue
2. Oral practice
3. Opportunities to learn new vocabulary

4. Grammar is taught inductively
Options :
1% |
2.92
3.%3
4.% 4

Question Number : 135 Question Id : 3922669135 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to the information, the following method is more
suitable when the amm of learning English 1s for
communication purpose.

1. Grammar Translation Method
2. Direct Method

Inductive Method

4, Natural Method

(s

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 136 Question Id : 3922669136 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



According to Mackey. the Grammar Translation Method is the

simple combination of of grammar and translation.
1. Structure
= Activities
3 forms
4, functions
Options :
1. %1
2.¥2
3.%3
4.% 4

Question Number : 137 Question Id : 3922669137 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Select the correct statement about the two types of gramimar.
1. Formal grammar is also known as descriptive grammar.

2. Functional grammar focuses on prescriptive rules.

Tad

Formal grammar is practical and usage based.

4. Functional grammar emphasizes the oretical definitions.
Options :
1.¥1
2. %2
3.%3
4.% 4

Question Number : 138 Question Id : 3922669138 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The following 1s NOT a salient feature of prescriptive or
formal grammar.
1. It follows the importance of written language.

2. It emphasizes the importance of written language.

Tad

It encourages flexible adherence to rules.

4. It presents language in a logical order.



Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 139 Question Id : 3922669139 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the type of vocabulary that includes words. used in
speaking and writing.

1. Recognition vocabulary
2. Production vocabulary
3. Structural vocabulary

4. Complex vocabulary

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 140 Question Id : 3922669140 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Word families involve grouping words based on their :

1. Length
2 Similar meanings
3. Alphabetical order
4. Opposite meanings
Options :
1% |
2.¥2
3.%3
4.% 4

Question Number : 141 Question Id : 3922669141 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the plural word that ends with the /1z/ sound

1. Plates
2. Bangles
3 Boxes
4. Spoons

Options :

1. %]

2.% 2

3.¥3

4. % 4

Question Number : 142 Question Id : 3922669142 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Select the term that refers to the unstressed vowel sound that
often appears as a reduced vowel in connected speech.
[ Schwa

2. Diphthong

LS )

Monophthong

4, Glottal stop

Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 143 Question Id : 3922669143 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the plural word that ends with the /z/ sound :

1. Caps
2. Tubs
A Bots

4, Laughs

Options :
1. %1



2.¢2
3. %3
4. % 4

Question Number : 144 Question Id : 3922669144 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the primary articulatory feature that determines the
difference between /p/ and /b/ sounds :

1 Place of articulation
2. Manner of articulation
3. Voicing
4, Nasality

Options :

1. % 1

2. %)

3.4 3

4, % 4

Question Number : 145 Question Id : 3922669145 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the aspect which involves the systematic plan for
achieving educational goals :

1, Methods
2. Curriculum
3. Assessment
4. Materials

Options :
1. % 1
2.¥2
3.%3
4. % 4

Question Number : 146 Question Id : 3922669146 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the correct statement about the goals with in a

curriculum
il Goals are only for teachers’ reference.
2, Goals provide a sequence for teacher planning.
3 Goals are unrelated to teaching and learning.
4. Goals are not necessary for curriculum development.
Options :
1.¥ 1
2. %2
3.%3
4.% 4

Question Number : 147 Question Id : 3922669147 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the incorrect statement about the importance of

textbooks:
1. Textbooks simplify a teacher’s work.
2. Textbooks save time needed for classroom
management.
3. Textbooks are not necessary for student’s self — study.
4. Textbooks help guide students’ efforts in studies.
Options :
1% 1
2. %2
3.¢3
4.% 4

Question Number : 148 Question Id : 3922669148 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Select the correct meaning of the Latin word ‘currere’
il A sequence of planned experiences

2. A race course or runway

3. A set of Teaching materials

4. A systematic plan of teaching

Options :
1. % 1

2.¢2
3. %3
4. % 4

Question Number : 149 Question Id : 3922669149 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the type of assessment that prioritizes the
constructivist approach

l. Memorization tests
2. Group discussions
3. Passive listening
4. Teacher — centered tests
Options :
1. %1
2.¥2
3. % 3
4. % 4

Question Number : 150 Question Id : 3922669150 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The primary function of the post-active phase of teaching is
1. Identifying objectives

2. Analysing learner performance

ad

Reflecting on learning experiences
4. Providing feedback



Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 151 Question Id : 3922669151 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Instructional planning helps teachers achieve:

1. establishing connections with learners
2. visualizing the future
3 developing a unit plan
4. 1gnoring learner needs
Options :
1.¥ 1
2. %2
3.%3
4.% 4

Question Number : 152 Question Id : 3922669152 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Educators engage in the pre-active phase of teaching to :

1. reflect on learning experiences
2. analyze learner performance
3 1dentify objectives and context

4. provide feedback

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 153 Question Id : 3922669153 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The primary role of teaching aids is to :

1. Replace teachers entirely
2. Enhance teachers speaking skills
3, Facilitate learning and understanding
4. Disrupt the learning process
Options :
1. %1
2. %2
3.¢3
4. % 4

Question Number : 154 Question Id : 3922669154 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Select the type of teaching aid that focuses on the sense of

smelling.

1. Visual aids

2. Tactile aids

3 Kinasthetic aids

4. Olfactory aids

Options :
1. % 1
2. %2
3.%3
4.¥ 4

Question Number : 155 Question Id : 3922669155 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following objective does NOT align with the use of
teaching learning materials.

1. Making learning permanent

2 Enhancing teacher’s speaking skills

fad

Relating learning to real life situations

4, Developing students perception of context



Options :
1. %1

2.¥2
3. %3
4. % 4

Question Number : 156 Question Id : 3922669156 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Choose the type of language laboratory that uses computers
and language lab software
1. Traditional Laboratory
17 Lingua-phone Laboratory
3. Computer Assisted Language Laboratory

4, Dial Access Lab
Options :
1. %1
2.% 2
3.¥3
4. % 4

Question Number : 157 Question Id : 3922669157 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The main purpose of generative questions is :
1. to test vocabulary and grammar

2, to direct Classroom procedures

3 to simulate critical thinking

4, to review knowledge and information.

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 158 Question Id : 3922669158 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the incorrect statement about peer evaluation.
i meant for criticism. fault finding

2. primarily assigns grades

Tad

offers improvement suggestions
4. provides insights for self growth

Options :
1.¥1
2. %2
3.% 3
4. % 4

Question Number : 159 Question Id : 3922669159 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the term that refers to the measurement of the quality
or value of phenomenon with reference to standards

1 Evaluation
2. Assessment
B Measurement

4, Appraisal

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 160 Question Id : 3922669160 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the characteristic that involves the ability of a test to
provide consistent results when administered by different
individuals.

1. Consistency
: 3 Validity
3 Reliability
4, Practicability
Options :
1. % |
2. %2
3.¢3

4. % 4



